
201 その 1 
(1)3+y-5,33+y3-50のとき,33+y3-(3+y)3-3xy(I+y)より 

50-53-3･xy･5 ⇔ 巧 -5 -I(答)


このとき,x2 -3+y2 2y 5- ･- 5 -(
+y2 ( )- x- 2 25 1 答)


すると,
 

35 -x+y)3+y) (y2x )
+y5 (2 2(3 3-r)(+y

=15.50-52･5 

-625 -(答) 

(2) 3>1のとき, 

lg着 -lo 3-1g4-1g2 o 6-02-o2 g2 023 0 I-lg22 1gI6 
2 8 

1｡gJ44=｣塾 生 
log28 

log23 10g23 ~log23


であり,3>1のときは log23>0であるから
 

log% +lg < - lg3 6+7 <2 oJ44O (o2- ) 志 o 
⇔ (log23)2-610g23+8<0 

⇔ (log23 12)(log23-4)<0 

⇔ 2<log23<4 

⇔ log24<log23<log216 

⇔ 4<x<16(./底2>1) 

∴ 4<3<16 p-(答)


